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e — 4‘ TANE—H FRaALHU—F (HA)
& N & 40 ($1EEEE) 1.0mH Y
e : 7*"""”""”4 BB 6 150 avyy)y—Fk 0.092 m3
RURE UL i) # | 010 m2
K S — ~ 2000 B Hh # 0.01 m2
X BEEETFHIGOEANEET2L0EEAT 5,
1. BEGICERELBLEHESCLDET S,
- = 7K T B R R (m) sz
= 2 aEe (m) 4 A1 (FEE)
NO. 0+ 0. 50~NO0. 0+14. 87 1/4.0 14. 37 14. 81 14. 81 1.0308
NO. 0+15. 37~N0. 1+ 0. 04 1/3.5 4.67 4. 86 4.86 | 1.0400
NO. 1+ 0. 54~N0. 1+ 5. 62 1/3.5 5.08 5.28 5.28 | 1.0400
NO. 1+ 6. 12~NO0. 1+12. 64 1/3.5 6.52 6.78 6.78 | 1.0400
NO. 1+13. 14~N0. 2+ 1. 64 1/4.5 8.50 8.7 8.7 1.0244
NO. 2+ 2. 14~N0. 2+11. 41 1/4.5 9.27 9.50 9.50 | 1.0244
NO. 2+11.91~NO0. 3+ 7. 89 1/5.0 15.98 16.30 [AIEETE | 1.0198
At 64. 39 66. 24 49.94
eIER— 116.18




7E

Kk #

BREEHIZE (s —11300x1000 % UHEE &)

1300

L)

1000

n _ o s | VT —$1300x1000 ; e
- LE  [KTEERE ey . BE (£1H)
NO. 0~NO. 0+0.5 0.5 0.5 1.0000
NO. 0+0. 5~NO0. 0+10. 8 1/4.0 10.3 10.6 10.6 | 1.0308
NO. 0+10. 8~NO0. 0+11. 3 0.5 0.5 0.5 | 1.0000
NO. 0+11.3~NO0. 1 1/3.5 8.7 9.0 9.0 [ 1.0400
NO. 1~NO.1+ 0.5 0.5 0.5 1.0000
NO. 1+ 0.5~N0. 1+2. 6 1/3.5 2.1 2.2 2.2 | 1.0400
NO. 1+2. 6~NO. 1+ 8.6 1/3.5 6.0 6.2 6.2 | 1.0400
NO. 1+8. 6~NO. 1+12. 6 1/3.5 4.0 4.2 4.2 | 1.0400
32.6 6.2 27.5 32.17
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BREEHIE (Vs 11100900 R VHEEE)

1100

-
SRR

n _ e g | IV —$1100x900 o e

& FT DE KRR EnU | EEa =€ | @
NO. 1+12. 6~NO. 1+13. 1 0.5 0.5 1. 0000
NO. 1+13. T~NO0. 2+ 1.9 1/4.5 8.8 9.0 9.0 | 1.0244
NO. 2+ 1.9~NO0.2+ 2.4 0.5 0.5 1. 0000
NO. 2+ 2.4~NO. 2+ 6.4 1/4.5 4.0 4.1 4.1 | 1.0244
NO. 2+ 6.4~NO.2+11. 4 1/4.5 5.0 5.1 5.1 | 1.0244
NO. 2+11. 4~NO. 2+11. 9 0.5 0.5 1.0000
NO. 2+11.9~N0. 3+ 7.9 1/5.0 16.0 16. 3 16.3 | 1.0198

35.3 21.4 14.6 34.5
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\ AHEEIY HEEIY
- 709 XCADTHEHIEFRSE E#50. 556 m?
HESaY
aH-F  ooekz=1en/m2 0. 556x2. 80 = 1.56 m3
B2 (0. 928x1. 020+0. 428) x2. 80+0. 556x1. 556x2= 558 m?2
PRAR
WHY-b  ookzoama O- 717x2. 80+0. 10x0. 10x (2. 878+3.656) = 9 07 m3
. (0. 539+0. 155+0. 305) x2. 80+1. 328x2. 80
2w x1.031+0. 717x1. 556x2+0. 20x (2. 878 10.21 m2
+3.656) +0. 1x0. 1x4=
855 $D345 (D13) RR=T &Y 160.7 kg
X &
FAITWM-7409° 0.50 x 2.80 = 1.40 m2
TUh-8%85 SD345(D19) 0. 50x2. 25x3 = 3.38 kg
HRE  SGP-32A 0.20 x 3 = 0.60 m
weEsy A st Bkt 70 (3.672-1.972) /4x1. 2x20. 0x3 = 528.73 g

(tbE1.2L9 %)

0.3 k g




M E i BB
15 BRhiR
#%#7SD345 (D13)

S | REm [ A¥ | FERMm |BUNES|SFE ko)
O) 3.520 13| 45.760 0.995| 45.531
@ 2.700 12| 32.400 0.995| 32.238
©) 1. 680 8| 13.440 0.995| 13.373
@ 1.100 10| 11.000 0.995| 10.945
® 1. 100 10{ 11.000 0.995] 10.945
® 1.100 12] 13.200 0.995] 13.134
@ 1. 100 10{ 11.000 0.995| 10.945
0.670 24| 16.080 0.995| 16.000
® 0.350 12[ 4.200 0.995| 4.179
0.150 23] 3.450 0.995] 3.433

&t 160. 723
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3100 100 800 100
®7 B0 140 4x150=600 14 i @ o
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P2 . T2
iy L Fuh—
TEE BEFIN T
3100 2980
LU 190 13x200=2600 190 60 ‘ @ 7-D13x2980
; ﬁ:) 16-D13x880
5L R
= EE‘ @224)]3){]50
KRR
)b oek=2an/m2 (3. 10x0. 15+0. 40x0. 30x2) x1. 00 0.77 m3
+0. 10x0. 10x3. 10x2 =
. " (3. 10x0. 25+0. 40x0. 30x2+0. 45x1. 00+0. 30x
B o® 1. 00) x2+ (3. 10+0. 10x2) x0. 10x2+2. 30x1. 00 6.49 m2
Y] sp345 D13 (2. 98x7+0. 83x16+0. 15x22) x0. 995 = 38.05 kg
ZtH D345 D19 0. 70%2x2. 25= 3.15 kg
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R e fE T

E e B E & iH % NO.
4w R &t =1 = -l v o=
B/L-VERE - HBE m 70
/- B
EBET wT FRhR iR
<aV9)— 15.02 591 + 44 + 1271 38.04 m3 39
| £ 950
=aV9) bk 34.70 1.80 36.50 m3 37
EE BT E
57904 —3Y 66.24 0.56 37.09 m3 37
%t
) 40.20 40.20 m3 40
o= AF mE
=l 73.40 4110 + 32 = 117.70 m2
m2 t
117.70 x 0.20 23.54 m3 24
m kg/m
=)L —b 69.85 56.60 = 3954 kg 3.95 t 4
/- B
EikE - BEHk
<2V —h 39.0 14.50 2.69
=aV9) bk 37.0 14.50 2.55
57904 —3Y 37.0 22.60 1.64
) 40.0 18.90 2.12
=l 24.0 21.20 1.13
=g —b 4.0 24.70 0.16
10.29 =] 10




